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SH65E4H
NO AH 248 % B X%
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3 5A7H BE REEBZEORCHEICELIEHR 5,000
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6 5821H BE TEFEMECHEICELIEM 10,000
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1 7H2H BE nhESEECHEICRLIEH 10,000
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3 78188 ®E-BE | EETEMROEBA 15,120
4 7H19H FiE-HE  |EHEEBIRERSHIGITHES B 10,000
5 78248 E-S-1 BHEEBEERSHIGICHEIBTEE 5,000
6 78268 -3 BHERRERBFIHERRBRESE 5,000
7 78308 FE EBEECHEIChNEEFH 10,000
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1 9820H BRE EHEESERIWITESNE 10,000
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1 10A3H =& 2EEHRERXEE 12,000
2 10A4H ®BIE-BE  |BRMT. ‘ﬁ‘é%m,%mbunm%)k 18,040
3 108 15H -1 AR MREEISISE 2,000
4 10A18H =& HhHomHlE 20ﬂ¢‘EA$¥A§ 15,000
5 10818H =& 2EEGRZEZRESERRBRSE 7,700
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8 H29H B3 PN E%E%Fﬁ&l?%%ﬁﬁﬁ#ﬁ&%% 10,000
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2 2A7H 2E [ AEhmeakeasnasssg 5,000
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4 2H18H = HRITBE B RAIBRR #@a%:% 25,000
5 2H18H = @ﬁﬁ% EEXHFENSTHES 5,000
6 2H19H ZBE-EH _ |[F13E LN — h#%ﬁr@i%#ﬁ(:ﬁéé%ﬂ%ﬁ 5,000
7 2H20H BRE iﬁﬁiiﬂ:‘:ﬂxa*ﬂ”“Aﬁﬁ 10,000
&t 62,176
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1 3E11H =8 AEEGRADETESS 5,000
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